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For instance that he made it into an 3P >M2eR — SP3NIBR XMWT 1A

OVERVIEW

Initially the X713 assumed that the Xn>92 (which requires the m» to pay the
n1? for the X°¥°) is discussing a case where the n"va is owed Ry M¥w>
only. The difficulty was why cannot the 117 insist that the 11"va should leave
him a part of the field for the value above the loan amount. The X7n3
concluded that it is an *p>n1dX and therefore the 11"v2 is entitled to keep the
entire field (even the additional naw), but is required to pay the n% for the
X%, The issue N9OIN considers is whether we are now (when we say that it
was an p°n1dX) still discussing a case where he is owed only XyIx M¥°w>
(however if he were owed Xmaw1 XyIX M¥°w> he would not be required to
pay the 7X°X> [(even) by an ’P’I‘ﬂDN]),l or now (that it is an *P’N1dX) we can
say the ¥n™72 is even discussing a case where he 1s owed XY RyIX Y°Wwd
and nevertheless he is required to pay the 7xw.?

— NNAYI NYIN NYIY 199X 1193 720197 299N I8N0 RNYN

Now that we establish the Xn*92 in a case of an *p°MaXk, the XN™72 can even

be discussing a case where he is owed the equivalent amount of the land
and the improvements -

— 55519 4995 19715 “ANININ 1Y PN SPIMAN NIIWT 1193 >0 1929N)

And nevertheless, since it was made into an > MR, the 1"v2 is required

to pay the nm for the expenses, as is the rule regarding one who goes,

etc. into his friend’s field and improves it, where the owner is liable for the expenses (up
to the amount of the improvement).

mooIn proves his point that the 11" must pay for the expenses, even though he will then
not collect his full debt:
— NN DN NNAYWN IR DIIMIN DININD 23) (.ow) JAPNN PI93 1999INRTD

" The ruling of Xaw that the n"ya is 727 the maw [without paying anything to the np12] applies whether or
not this field is an *P>moX, provided that the M7 is owed XMWY RYIR NYWH.

> The ruling of XMW (see footnote # 1) is only if it is not an *p>MdX and XMWY RYIR NYWI P0A.

? One would think that since he is owed Xmaw) Xy7X w3, the 791 should not pay the mp1> anything, for
then he will not fully collect his loan, nevertheless N1201n rules that he is required to pay the ax>x>.

* The ®n™92 states 11 Hyan RCROTY 91 Do,

3 The fact that it is an *p>mdX makes it (when the mn collects it [from the nP9]) retroactively as if it was
always the s'm%n field, and so the rule of 17°an 77w N2 77 applies. [We are not concerned that the m>n is
not receiving the amount due to him (which may make him reluctant to lend in the future), for since he was
told 1 K2R NwND 72 717 X2, he agreed to take this field as payment in full, regardless of its worth.]
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As the X723 states in 9ap»i7 P9 regarding where the 2200 claim ‘we

improved the land’, and they want to be compensated for the expense °
and the M%7 claims your father improved the field and therefore I do not owe you for the

expense -
— NNAYI RYIN NIV 1N 72017 2) DY NI PP MANI Y9917

Which that case is regarding an °p°nisR, and the o210 will receive the
expense (if they can prove 1172w 1X), even though that the 1"v1 is owed
RP2W RPIR I —

mooIn proves that the case there is where X2aw1 RYIR MY°W 172 P°0N7T -

— 951 N3N NAYN DN’AN ON NNT
For the rule there is that if it can be proven that the father (the mb)
improved the property, the m>» would collect everything and would not pay
for the expense.’ If the Mm% does not owe Xmaw) XyIX w2, then the mvn would surely
have to pay the father for the expense if he was mawn.® This proves that the "3 is owed
R7AwY RYIX MWD and nevertheless the 2N claim 1M2wH 1R and are entitled to the
nX°%, even though it is an °ndX. We derive from here that in a case where the m>n is
owed the equivalent of the entire property including the naw which the mmp? improved,
nevertheless he must pay the mmp> for their expense, even though he will not collect his
entire loan.

mooIn reconsiders this proof:
— NN NPT MINY 9 DY DNY PRY DIIN? INYT NI PN 1N

However there is no proof from the case of amn> (that the 1"v2 must pay
the np1?), for a"mns are different (it is understood why the 1"¥2 must
compensate them for their expenses) since they have no recourse from

where to be paid for their expenses, therefore the 1"v2 must compensate them -
— MYHA XDV 193N NTY 7INY 7990 NN 29N 9’?’5‘\192‘{ 0N’aN NYYY V0%

For since their father made the field into an >p>nieR, therefore the o°»n°

are considered as a MW"2 X5W 102 77 TIND T -
— ANININ TI0VN 1INV

% See (also) 9¥a 11"7 '0I0 X, (at the end).

7 This is the claim of the 1"y2; that the father was m°awn and therefore I do not owe for the expense.

¥ See TIE X1 7"7 'oWn &, “Thinking it over’ # 2 and footnote # 9

? Mmoo explains that paying the o> for their X°%> does not contradict that which moon taught us
previously on (@"¥7) n"va 7"7 X1, that a 1"v2a collects from 2°»n° and does not compensate them (even
though they have no recourse), for here it is an >»’moR which makes it a if it was the s'm» field; therefore
they are entitled to collect the X°%> as a 171°an 77w 702 77, However previously we were discussing where
it was not an P>y, therefore it never belonged to the m?n. The o*mn° improved their field, and when the
7191 collects it for his loan he is not required to compensate them (even) for their expense. See [however]
SN MR *"92 for an alternate explanation.
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Who does not lose his expense which he invested in the owner’s property -

-2 19VI9 NTY NAWNI ANININ 1D BHYN 99NV DIV P01 1IINY NPIYA YaN
However by a n»» who is not losing anything if the 1"va will not pay him
for the expense, for the seller is obligated to pay him for the expense and

the improvements, since the n1? freed him from his debt," in such a case -
— 557 PPPY RNAYY NYIN NV 152 P07 113 SN 1TPNT 992939 19817

We can possibly argue that even by an >p>n15R (which is considered as the
s'm"va field, but) since he is owed Nmaw KXy "W, the n1"va takes

everything including the maw and does not pay the mp1? anything'' -
— 30 ¥ NY MPIMAN NINVYY Dravay

For it is logical to assume that because the Mm% made this an >p>nX (which
1s intended to strengthen the collection capabilities of the 1"v2) the strength
of the 11"v2 should not be diminished.

nooIN asks:
— %9 NYN Iy99 ‘[7 NN ND 75 9987 1972 9NN ONY

And if you will say; since the m? said to the m>», ‘your payment will only

be from this field (an [w9n] *p>mox)’ -
— 999 YW 1N M9IY 19T NPIZD DD NN NN 999WH

When the Mm% then sells it to another person, it should be considered as if
the > is buying it from a 3913, since this field does not belong to the

"2 for the MY (the 121n) designated it as an >p>moX for the M -
— AN YY 9PN NAYN 9911 I YV A1Y 19 ON

If this is indeed so (that it is considered like a 17132 n17), why does the 1%

collect from the 291 the R X7 Y 057 M2w -
— NNAY 7Y 1Y HNMWYY 1919 NPIY XD

Since according to »Xw, one who purchases from a 913 cannot collect
for the maw (for it appears to be similar to n°27)!

madIn answers:

' We are discussing a case where Xmaw1 Xy R 9w 72 p°on. After the mn takes away the entire field for
his loan, the 951 must compensate the np17 for the entire 72w including the nX°%* since it all went to pay his
loan.

" The xn>2 which states that the n> collects the Ax*%> from the n1"va is discussing (as the X3 originally
answered) a case where RYIR MWW K2R 7172 P01 K27, therefore even though the 7191 may take the entire field
(since it is an *P>MoR), however he must pay the n17 for the X ¥>. See ‘Thinking it over” # 1.

2Tna regular case where there is no *P>noX and the 1"y2 is owed Xm2w1 XyIX NMy°w, the 11"va collects KyX
X2’ without paying anything to the n? since this is what he is owed, so certainly by an *p>niR, the n"va
should be able to collect everything without paying anything to the 17 (if he is owed Rnawy RyIR Ny Ww).
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— Pyatn 19 APRD SNT 29N YYa HY 1T XaY DN 1990V 1D MY UM
And one can say; we are discussing a case where for instance the M7 sold

it before the due date of the loan, so the sale is effective until that time -
— Y55 NPNPN YN XYY 191 397 XD

So it is not similar to buying from a §913, in which case the sale is not

effective at all -
— %319 759 MY NAY DYY BN ANIYA M NT

Where the money which was paid to the 121 is considered a loan and if

the 1213 will pay for the maw it will be considered nva9, however here the sale is
valid until the due date and therefore it is not n°2A.

NN adds:
£ NOYVY 1Y NPNN HNY T 2IN DY U9 9120 NN 1IN NN 19919 199N

And it is possible to say that even if the m> sold it after the due date of the
"W, nevertheless it is a valid sale, for the Mm% planned to appease' the
n''va with money, so the 1"v2 will relinquish his rights to the "p’nox, and
therefore the sale is valid until the 1"v2 took it away from the np.

SUMMARY

Initially m»oin assumed that (even) in a case where the mn is owed MYw>
X2 X¥IXR and it is an *p>M1dX the M%7 must pay the X% (as a 770 7N% 70
"37), and proves it from 2°»10°. However mooin reconsiders and differentiates
between 2»n° who have no recourse (and therefore the m>» compensates
them for the nX°¥°) and a n? who has recourse (so the mbY» may not be
required to compensate him). [Selling an *P>MoX field is not the same as
selling a stolen field.]

THINKING IT OVER
1. Why is it that (in a case of an *p>MBdR where XYIX YW KIR 7°2 p°0n X?)
the 1?17 collects the naw from the 751 and the 7X°%° from the 1"va?

2. mvoIn states that (even by an *P°MoX) the npn is effective until the due

date of the 7uw."”> Why then is the n> considered as a 1an 77w 0% 777
N3yt

" See “Thinking it over’ # 2.
' See “Thinking it over’ # 3.
1% See footnote # 13.

16 See o 1.
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3. When the Mm% makes an (w1197) *P°MOR saying 1T XX W10 72 R0 &9, and
the m>» insists on taking the field as payment, can the Mm% pay him off with
money'’ and retain the field?'®

17 See footnote # 13.
'8 See 11 1"72 n"'m1 and 25PN MK 92,
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